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d.  How much shou ld  the  doc tor  b i l l the  insurance company?
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Using the inform;rt ion provided, complete the table on the neit  page. How much is the total
pr ice of the supply order submitted i f  you must order the fol lotruing products: LO rol ls of  packing
tape, one ream of paper,  one boxof snacksforthe nurses lounge,20 rol lsof c loth tape, L case
(12 individual boxes) of bandages (mixed sizes),  and 6 jars of dis infectant? (25 points)

According to the supply catalog, you've learned that one rol l  oi  packing tape is $6.50 apiece; one
ream of paper is Sgs.oo; one box of mixed snack packs is S23.50; 
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one package of nr ixed bandages is 55.75, but a ful l  case earns A tobdiscount;  and one jar of
hospital  grade dis; infectant is S13.22.

Math 1000, Exam #2, Summer 2Ol_3

Instruct ions: You should show work on al l  problems. l f  you used a cafculator to compute the values, you
s h o u l d i n d i c a t e t h a t o n t h e p r o b l e m ( t h i s i s m o r e a p p r o p r i a t e o n s o m b p r o b l e m s t h a n o t h e r s ) .  t f t h e
specif ic problem says to do the problem by hand, you wi l l  not receive ful l  credit  for only an answer. you
may use decimal places on any problems that begin with decimal places, or which involve the metr ic
system. Round to two decimal places unless otherwise indicated. Rl l ldol larvalues should be rounded to
the nearest penny.

1-.  Suppose that a pat ient 's insurance has a 52s0 deduct ible.  t t  lovers doctor 's vis i ts with a S j"5
c:opay, and other procedures atSO%o, with the pat ient responsible for the remaining 20% (once
the deduct ible has been met).  At the present vis i t ,  he has alrdady paid g20o of his deduct ible.  In
addit ion to the v ' is i t ,  a blood test,  cost ing S24O is ordered as pbrt  of  the examinat ion. (20 points)
a. How much tnoney does the pat ient owe on the blood tesi?
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b. How much nloney does the for the doctor 's vis i t?

c .  How much shou ld  the pat ient pay a l together?
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3. Write the abbreviations for the following terms. (2 points
a. Decil i ter

b. Dekameter

furn
c. Microgram

mcl
d. Drops

{
e.  Mi les

f, Cups

write out the word(s) for each of the fol lowing abbreviations
a '  m c l  .  r ' r

f\u4,,t'o htm/

b. kg

c. tbsp.

e.  cm

Cr^,fi'r,\,f-t

symbols. (2 points each)
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5. Make the fol lowing conversions (within in the same system).(5 points each)

a. 0.6 mg is equivalent to

b. 75 mm is equivalent to 1,s

c. 250 mg/L is equivalent to

e. 6' is equivalent to

Write the fol lowing expressions in the appropriate apothecary
a. L5 grains

mg/ct tr.# r

(3 points each)
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f . 720 gtt is equivalent to
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Using the conversions in the table below between apotheca
metric system, make the fol lowing conversions. (These appr
to one decimal place if  needed.) (5 points each)

/U.S. Customary units and the
<imations are approximate. Round

Metric Apothecary U.S Customarv
5 m l L tsp
30 ml 1 ounce 1 ounce
1 l i ter 1 q t
2.5 cm 1 i n
1 m 39 in
L k m 0.5 mi
60 mg L grain
I e L5 grains
1 k g 2.2 lbs

a . 6o kg is equivatent to - 13 Z tbs

5,400 seconds is equivalent to s
12 in is equivalent to

6 oz is equivalent to ml.d .

l f  a doctor tel ls you the patient 's body temperature has dro
warm him by only L'C per 15 minutes, how long wil l  i t  take
"normal" body temperature of 98.6'F? [Hint: you wil l  need
one system to f igure out.how many increments of t ime you
temp is in Celsius, I  suggest using that. l  (L0 points)
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warm his body back up to
convert al l  your temperatures to
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You mfV round all figures to two
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9. Write the following expressions in scientific notation.
signif icant f igures. (3 points each)
a. 0.00460
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b. 12,009

1,2-.K bt'

c. 876,092,356,000 8 . 8  x , o ( l

L0. Wri te each of the expression (not
a. 7.!x1.0-8

(

b. 6.22x10e

b-72 o,ooo.oo c>- 1  t  )

11. simplify the expression and write your f inal answer in scienti
f igures. (5 points each)
a.  (7 .25 x  103)4

b. (1,1 x L0-2) + (8.9 x 10--a)

/ . e  x  t o t

notation). (3 points each).scient i f ic

notat ion.Use two significant

,+1.  A lb '5
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12. Calculate the fol lowing problerns and write y
digits. You may use your calculator. (4 pointt

a. (s sig fig) 567.009 + 2.34432 + 78.09

'  ++, zls
b.  (1s ig f ig)  2 .103+ 0,03 = 

(A '  ,

c. (2 sig fig) 73.25 x 2.2 =



i .3. Below is a doctor's order taken from our textbook, Write
do in words. Use complete sentences. Be sure to use al l the
descript ion. (10 points)
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